wies- ts = {0,1/6,1/2,2/3,3/4,11/6}Pi

27 371 1l
T ) —}
3

Out[165]= {O , —
4 6

)

N

7T
o
6

inresl= EXp[I ts]

i 2irn 3irn i

Out[166]= {l, es,i,e3 ,e 4 , efT}

in67= ComplexExpand[%]

i V3 1 1+3 1-1 i V3
Out[167]= {l,—+ s 1y —— + , - , - —+ }
2 2 2 2 /2 2 2
nfesi= 2 =2Sqrt[3] -21
oufiesl= —2 1 +2 V3
ines)= Abs[z]
out[169]= 4
7= Arglz]
s
ouf170]= — —
6
w7~ Table[Exp[I (2kPi/6)], {k, 0, 5}]
i 2inm 721A/\ i
out[171]= {l,es,e s ,-1,e 3 ,e 3}
nf72p= L1 = ComplexExpand[%]
1 1+v3 1 1+3 1 1+3 1 1+v3
Out[172]= {l,—+ y — — + , -1, - — - , — - }
2 2 2 2 2 2 2 2

n7a= clistplot[list_] :=
ListPlot[Table[{Re[list[[i1]]], Im[list[[i]1]1]}, {i, Length[list]}],

PlotStyle -» {Red, PointSize[0.03]},

PlotRange -» {{-1.1, 1.1}, {-1.1, 1.1}}, AspectRatio -» Automatic]
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7= g1l = clistplot[11]

1.0~

0.5

Ouwzﬂ:ﬂo““-&s““ olsﬁ

ni75= g0 = ContourPlot[x"2+y”*2 =1, {x, -1.1, 1.1}, {y, -1.1, 1.1}];

ini76:= Show[g0, gl]

out[176]= 001 b

-0.5+ B!

-1.0 -0.5 0.0 0.5 1.0

7= Solve[{x"2-y"2=Sqrt[3] /2, 2xy =1/2}, {x, y}, Reals]

1
Out[177]= {{X%fi,y%f; Z*ﬁ},{X% y Y — }}
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npi7er= FUL1Simplify [%]

out[178]= {{Xe—i\/2+\/? ,yai(\/?—\/?)}, {xei’yﬁi}}

2



